Question One (9marks} Marks

Solve for 0 < 6 < 360°:

]
a) sind =0 1
Student Name:.X'e .. - ... 3 2
Teacher Name: .....ccooeuvnenn. Cerrerree b nprrrinn e b) cos20 =~ .
c) 2sin®6 +cos§ —1 =0
3
d) sin26 = cos8
Question Two (9 marks)
3
a) Solve;%s 2
Year 11 Extension I b ponth ot aves draw the graghs ofy — x4 3] and y = 3
. i) On the same set of axes draw the graphsof y = jx + 3|and y = 3 — x.
Mathematics sreph el 7 2
Assessment TaSk 1 if) Hence or otherwise solve |x + 3| <3 —x 1
3 rd M ay 20 1 1 c) AB is the diagonal of a cube and the point C s a vertex on the base of the cube as shown in the
diagram. ’
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Determine the size of LABC correct to the nearest minute.
General Instructions Q.3 /9
« Attempt ALL questions Q.4 /9 .
« Write your NAME in all the Question Threg (9 marks)
e):angpaarttl()era‘]fhogtl:;fi:r?%?l a Q.5 /9 a) Given sinx =§ and cosy = —;, where x and y are acute, find the exact value of:
3
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i) cos2x
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b)

i} Express V3sinx — cosx in the form rsin(x — a)
1} Hence or otherwise solve for 0 ¥ < 360° the equation

V3sinx — cosx = 1.

Question Four {9 marks)

3
a)Solve k™ 2 = 64

b) Uset = tang to prove that

c) From a point P on a bearing of 230° from a tower, the angle of elevation to the top of the tower is
15°. From another point Q, on a bearing of 160° from the tower, the angle of elevation to the top of

cosf+sinf —1 (4
— = tan-—
cos@—-sinf+1 2

the tower is 20°. if P and Q are 350 m apart:

i) Show that £PAQ = 70°
if) Show that AP = htan75°

iii) Find the height, h, of the tower to the nearest metre.

B

Question 5 {9 marks)

a)

I} Show that (sind — cosA)? = 1 — sin24

if) Hence find the exact value of sin15° — cos15°
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sin38 cos38

sinf cosf

b) Prove that = 2 (forsin@ # 0, cos8 # 0)

c) Eliminate 8 from the equations x = 3sec6, y = 2tan8,

leaving an equation in terms of x and y.

End of Test
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b) Sin3e _ Cos30 -2

Sing cos?

RS =

Cos@3in30 ~ Sinev Cos 3¢
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